Standard Rope Sheave

RS m#o—vy—

fo—E GEREgEA7UYT)

D/d
o—-7&
14 16 18 20
6 85 100 112 125
6206ZZ X1 6306ZZX1 6306ZZX1 6306ZZX1
63 20 106 118 132
: 620627 %1 6306Z2Z% 1 6306Z2Z% 1 6306ZZ% 1
8 112 132 150 160
6207Z2Z%2 6207ZZ%2 6206ZZ %2 6206ZZ %2
5 132 150 170 180
6207Z2Z%2 6207Z2Z %2 6207Z2Z %2 62072Z %2
10 140 160 180 200
6208727 %2 620827 %2 620827 %2 620822 %2
15 160 180 212 224
: 6210ZZ%2 6210ZZ%2 6210ZZx2 6210ZZx2
125 180 200 236 250
: 62112Z%2 62112Z%2 62112Z%2 6211Z2Zx2
o 200 224 265 280
621227 %2 6212727 %2 6212727 %2 6212ZZ %2
16 224 265 300 335
62142Z%2 62142Z%2 621427 %2 621422 %2
18 265 300 335 375
63132Z%2 63132Z%2 63132Zx2 63132Zx2
20 280 335 375 400
6314Z2Z%2 6314Z2Z%2 6314ZZ%2 6314ZZx2
o 315 375 425 450
’ 6316Z2Zx2*1 6316ZZx2*! 6316ZZx2*1 6316ZZx2*1
- 355 400 450 500
6318Z2Z%2*1 63182Z%2*1 63172Z%2*1 6317Z2Z%2*1

*1: LLH@EMBLTVFEEA

o RO LERFIELEO—TY—TDEYFHER. FRIFEERTUYITORVES - BINERLET,

eD/d&lF, Y—TDEYFHEREO-TOBERDLLTHY . BERBEOLWVET,
IU—VEERIBR ISR EDSBEARFICH VT, BHEBOSHRHERIICENROSNTVET,
ZOD/dEO—-TEDENS. Y—TDRINEYFHERERELET .

Standard Rope Sheave

25

150
6306Z2ZX1
160
6306ZZX1
200
6206ZZX%2
236
6207ZZX2
250
6208222
280
6209ZZX%2
315
6211ZZX2
355
6212272
400
621322X2
450
6313ZZX2
500
6314ZZX2
560
6316Z2Zx2*1
630
63172Z%x2*1

o IZHERTUYITER B4 mm

WUES Db B B Da B
6206ZZx1 | 62 16 16 56 B
6206ZZx2 | 62 32 16 56

62072Zx2 | 72 34 17 65

6208ZZx2 | 80 36 18 73 T
6209ZZx2 | 85 38 19 78

6210ZZ%x2 | 90 40 20 83 ! 1

62112Zx2 100 42 21 91 IC)IIC)[
62127Zx2 110 44 22 101

62132Zx2 120 46 23 111

62147Zx2 125 48 24 116 s

6306ZZx1 | 72 19 19 65

6313ZZx2 140 66 33 128

6314ZZx2 150 70 35 138

6316ZZx2 170 78 39 158

63172Zx2 180 82 a1 166

6318ZZx2 190 86 43 176

N\ NBK @E/17y021 0575-23-1162 info@nbk1560.com

Da

https://www.nbk1560.com



